1.) Solve using the multiplication principle. Don’t forget to perform a check.

-1/6x = -9/10

The solution is_____. (Simplify your answer. Type an integer or a fraction.)

2.) Collect like terms.

17r + 4s – 11r – 9s =_____________.

3.) 4 > -3x + 3 or 10 ≤ -5x + 3

4.) Solve using the multiplication principle.

-7x > 1/15

The solution set is {x|x __  __}.

5.) Solve.

-0.9x < -81

The solution is {x|__}. (Type an inequality.)

6.) Find the indicated outputs for f(x) = [image: image2.png]


 - 3x. 

F(0)=______.

F(-1)=______.

F(2)=_______.

7.) Use < or > to make the statement true.

-19___ -7

8.) Solve then graph.

4x [image: image4.png]


 32

9.) Multiply.

5/7 * [-8/9]

10.) Simplify.

6[79 – (80 – 26)]=____________.

11.) Solve then graph.

Y – 5 > -20

The solution is {y|y > ___}.

